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Introduction
In RAN4#94-e meeting, some open issues have been captured in [1]. The interruption related issues
	· Interruption for switching between LTE SL and NR SL
· RAN4 RRM will discuss whether and how to define the interruption requirement for switching between LTE SL and NR SL.
· Interruption for Sync. source change
· For the scenario that SL UE is changing its sync source from GNSS to a syncRef UE that is synchronized to GNSS directly or in-directly
· Option 1 : interruption is not needed to be specified
· Option 2 : interruption is needed to be specified
· Option 3 : need further discussion
· For the scenario that SL UE is changing its sync source from gNB to eNB or eNB to gNB
· Option 1 : interruption is not needed to be specified
· Option 2 : interruption is needed to be specified


In this contribution, we provide the discussion on interruption related issues for NR V2X.
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Interruption for switching between LTE SL and NR SL
In RF session, the transient period for UE switching between LTE SL and NR SL was discussed. The value of the transient period proposed in RF session is 150us~250us. So, the switching between LTE SL and NR SL cannot be complete within one symbol. One slot will be interrupted by the switching operation. When packet priorities of both LTE and NR sidelinks are known to UE, it has been agreed in RAN1 to prioritize the packet with a higher relative priority. In case the priorities of LTE and NR sidelink packets are the same, then it is up to UE implementation as to which packet is transmitted/received. When packet priorities of both LTE and NR sidelinks are unknown to UE, also it is up to UE implementation to handle LTE and NR sidelinks. Since whether to interrupt LTE or NR sidelink is up to UE implementation. We suggest not to define the interruption requirements for switching between LTE SL and NR SL.
Proposal 1: It is suggested not to define the interruption requirement for switching between LTE SL and NR SL.
Interruption for synchronization source change
For the scenario that SL UE is changing its synchronization source from GNSS to a syncRef UE that is synchronized to GNSS directly or in-directly, the original source and the target source are synchronous. The timing difference between the original source and the target source can be assumed within CP length. The operation of sidelink reference timing adjustment due to synchronization source change will not cause the interruption on UE sidelink communication.
Proposal 2: The interruption is not needed for the scenario that SL UE is changing its synchronization source from GNSS to a syncRef UE that is synchronized to GNSS directly or in-directly.
[bookmark: _GoBack]For the scenario that SL UE is changing its synchronization source from gNB to eNB or eNB to gNB, the original source and the target source could be asynchronous. The timing difference between the original source and the target source could exceed one CP length. Then, the operation of sidelink reference timing adjustment due to synchronization source change might cause the interruption on UE sidelink communication, and the interruption shall be allowed.
Proposal 3: The interruption is needed for the scenario that SL UE is changing its synchronization source from gNB to eNB or eNB to gNB.

Conclusions
This contribution provides our analysis on synchronization related RRM requirements for NR V2X sidelink. The following are provided:
Proposal 1: It is suggested not to define the interruption requirement for switching between LTE SL and NR SL.
Proposal 2: The interruption is not needed for the scenario that SL UE is changing its synchronization source from GNSS to a syncRef UE that is synchronized to GNSS directly or in-directly.
Proposal 3: The interruption is needed for the scenario that SL UE is changing its synchronization source from gNB to eNB or eNB to gNB.
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